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Response for question 4(¢} i T

| f-(.!) = ‘k:z- GGy = ©
X292 -2 :
r" “ - o
/ oy (-t =2 ' \¢
. G (')Cm"‘ b’c ¢ C.(»d‘,
= ;':7'- G ') G ) et St
| Ble) io difp'ahle

b'sz-l
oy (2%7%)

& C“\i- Jo 5*35? ot

Respometorquesﬁon 4{d)
| G~ Gl
b-a

| ,/ avo‘(?cti'; =
| o G

~

G(2)- G YY)
Z--Y
o = (-¢)

2--4

- le
-

= 3«3
L fw L Cack, g4 G = £ty b cat-on [-Y,2]
"y Gb duflee on (-2 0d G o cat v [4,2D

coy s MVT quanlees o veles © on (4, 2)

G'Ce)

Ll
=y

-4
Geuy=e § CCydd
o

1

2o (Cfe)db
|
= -lb
\(7‘

g

el
. 0/% V"
v oSt

Snck Pt GlCe)=

N
o
e ) “;&”K{

ks>
L

\

J 1
W

2 .




NO CALCULATOR ALLOWED |

%nm&ﬂé‘s‘ﬁoﬂs paﬁ (a) W{b}mthis page.

Responsequuasﬁon&(a}
2y~ 6 = yshx
4y i%: A X d‘—t’--(— Y eos x Y
q‘jﬁ% TN X %- %COSX
28 (4y- 3en)E Yool x
Qi yeos 'k
d& Ll“ﬂ'%)&
Response for question 5(b)
8- SI:MC’K")CI)
ﬁ ) Rcos O
Y-z 4 (-0 o3y U w0
- U3
4Js
. o I = L
q

Page 12




§ NO CALCULATOR ALLOWED

| Amewer QUESTION 5 parts (c) and (d) on this page.
‘Rasponse for question 5(¢) W W \/wvww - 3"1/&0= o

1 ¥ 1 < o\ < )\“ -

I Lt

IU%'K"""L

3@5 x = O
" Y s)
Lj—-o Ced % ‘O

w2 g ' L %

Ss Not oM . T
sption k_‘llji‘b:%sﬂf\q_

"Response for question 5(d)

- Yy co¥ X
Ak~ '-hj-g*«)h

Ysnx) Sco:k(H%—gﬂ)

g (y- s~ >N coSX ﬂw
e C"hﬁ'%‘\'r\l)i
1 %) |
%.3(Y- 0 - cos %)

ﬂb‘ = C‘{.l—gvf‘%)(c_ss %O .'___’2%'91 _ CZCos
M ({"1) . T 2
(4-2- 5 72)
| =} N\
. = ®=-1)(c-2)" (0)(0-0) 222D
-0 = X0
- 1(-2)
£ = <o
: (ﬂ/ ) Y dy [ 20 ond
‘F k’)’g V‘C/\. YV~ @ 2) C I;‘-J Cﬂ/z)z)
q "
U’l’y

) WAL -
\4s%°



| NO CALCULATOR ALLOWED

Answer QUESTION 8 parts (a) and (b} on this page.

Rmnse for q&sasﬁon- 8{a)

.})

‘t\\\\\\\\\\\\\\\
TNENSNNNNNNNNNNNNN

D e e T =

A" T S S T T s

N N
TS S SN NN NN NN
TSNS SN NN NN NN
TS SN NN N NN
TSNS S NN N NN N

e T U
b SR e T T U N
b S U U NN
+ N NN SN NN NN
e T U
+ N N~ N NN NN

|
i

Responseé for question 8(b)

/"/ {_L;.'"’Q A(t) =12 Meeaws on '('C“‘"c.,PP roochas 9,

/
i

/ Ha oot of Mdicokr Gn Pastiet

cppre eches 2 -y .

Page 14




NO CALCULATOR ALLOWED [

Anewer QUESTION 8 parts {c) and {d) on this page.

| Response for question 8(c) S

T
. -3

.
Response for question 8(d) | rpske of dne 2 or dec’ Y S
, . v P 0N

\ %_ e d“j/d*-» S0 o <0 \?-’\c ;

il 3 ]

- e (en)(‘};’-)r y (Y
et 4+

L) s ((F)-eHw &
at™1a,2.5) (+2)*

3
. 3('% V-2 q 25

»3)

i . =—,22_:3;Z-<Q s
. a .

Roskc of oge of predioskiomtdec * &%)

=\ d =1. ;,z“ .
e t=! ble 44 <o et Y
: " _ Page 15




